TEACHERS

addazyi O
H
T eastesBdaRyT.
5 wnsl I8 aﬂ wor Ollowing
transform direcl narration into indirect Wdy joins hands and danc,,
- narratsfg::j ow lovely this flower i8 [ gvery
A) Ram sid how lovely this oW (A) noun
was with joy { was B) adverd
(8) Ram exclaimed with joy tha J{C) adjective
a lovely flower that 8 {D) verb
(C) Ram exclaimed with Jo ( ng statements abo,y
lovely flower was as alovely .Mﬂd‘lafﬂ‘ﬁfo' is not True 7
() Ram said with joy that W 7. syric' form of p ing 14 lines
i aly (A) AIYIC CONE e sses the feslings
The line ‘They also sorve *huafﬂma (B) I upuall hts of a single speaker
sta?'ld and wait’ occurs in hich and Grﬁﬂ g identified the lyric
iollnwmg poems hakespeare (C) The ng rendared to the
AB) On H'EEE“‘:? ;ﬂs;'bf | 'ﬂlw;? “{ ay UE a brief
(C) 'Daffodils’ U by John (D).. A iy nola
D) ‘Ode on a GF }M
T Kee dhasan Diem’ means
3. Who rafers William Wordswo Carpe
" saverenduringman’ . ( ;.,Bmgy
Johnson 8
‘ES; Ehn Keals (C; g::fﬂbw the bright day
C) De Quincey
H 5.7. Coleridge L (D) Sees the :Y —_—
ith the error. (Read _ Which of the following statem
four ogmg ihe parts of the given % ot correct about Biography’ ?
i:?!ﬁn:sj Meera who (A) : l E:sm history of parhuuiar e
iv
(B) suggested that you be at the (B) The namebiography now connotes
entrance
() 1o welcome each delegate a relatively full account of a
(D) on their arrival particular person’s life
s N . (C) Itinvolves the attempt to set forth
Rl = e schemieef P etrarchan character, temperament and milieu
“(Kyrabba. - as well as subject’s activities and
experiences
(D) Biography isalater day
::‘;Ind biographies in 2


Dhruv Vashisht
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Stamp


E llowing statemenis js
: wmmf:},;g:r‘:sll:'lﬂ reforonce 1o essay 7
B assay differs from a “lrealiza"
{ Th-l?‘diss'ﬁrrtminn“ n Its lack of
o tanston to be ‘a systemic and
COim axposition

::;I,::; prlrnurlly discusses s
Anhfggt in nnn-‘laﬂhnlcm tashion
:T":g ascay disousses fts subject

liberal use of such devices

“ﬂm 2 5 siriking ustrations
as ;

: mﬂugmmappim
and humeour essay is relatively

The formal

personal

(B!
(©)

(o
sound was

the sea
}E:fm as the nak
free.” .
' John Galsworthy
H fliam Shakespearse

:I' oh _Mi-]mn

od heavens, majestic,

A word from the ‘options
e frheﬁ':'t_ﬁ:ﬁ' phrase mos!

(B) Infanticide
"~ (D) Sororicide

15

16,

g

A

s dainmue

Tran
t I31|:+rrn the faliowing sentance
*Clamaton BENanGo :

This story |s Very baautifuily iold

:.A] ThLE Stg'r'ilr hs Narrate
{B)

l|‘||i|,'1

d beautiduiy
This story is communicatad 80
gracedully |

(C) How graceful the writer is in 1eling
this stary |

AD) How beautitully this stary is toid |

dack Barlhwick ' a character in
WA The Man of Fioperty
(B)_Jocelyn
siand Pharisees
Wver Box

8. Which of the foliowing statements is
correct about Autohiography ?

(A) Itis written by a great author on
the lite of fellow author

(B) It is written by a schaoiar on the
life of a fellow scholar

(C) Itis a memoir
(D) The first fully deveioped
autobiography is also the most

influential : The Confessions of
St. Augusting, written in fourth
century
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harg

i ]

\B) 1 shay
Yo

B e
WIES 3 Slccasg since ha

%
e only 100 glad to ses

J"'I
0. Wno callag

Shakes ;
acy| ; Paare a "Johannes
Olum’, a Jack-of-all Trades ?

{A) Christaphers Marowe
dmuaj .| ohnson

(C) Hoban Greens

(D) William Wordsworth

.ThE' Qreal artistic movemant
HE”mﬂﬁancﬁ‘ had its full impact on
English literature in

(A) Fifteanth cantury
. AB) Sixteenth century
4 “w (C) Eighteenth century
“+ (D) Nineteenth century

22. Which of the following works is a
novelaette written by John Galsworthy 7
(A) The Frealands
(B) Jacolyn
C) The Forsyla Saga
(D) None of the above

23, What is the ‘grammatical status of
the underlined word in the following
sentence 7
There was a great round of applause.
{A) noun
(B) adjective

AC) adverb
(D) verb

4. A ‘dramatic monologue’ is a type of

poem that contains

(A) a single speaker talking to
himself

(B) several speakers talking on one
subject

(C) one imaginary speaker talking to
an imaginary audience

(D) a single dialogue in the poem

G-08/A

(s A Pomiors

st \Which of tho follawing

logy” 7
Tﬁ:ﬂlum Withan in 8 Coonamiry

Churchyard
(B) In pAamoriam
AC) Lycidas
(D) Duino Elegy
ol & person's lile
26, *‘:“;?::::1 :ﬁﬁ::::qamg infarmation
znd texte relevant fo the subject’, iy
called
(A) Biography
(B) Autobiography
(C) Memoir and Ode

(0) Elegy
ne word trom the options
' E;:?;Ifndzsnﬂhas the phrase mosi
accurately.
Gradual recovery from linass
(&) Panacen
(B} Lonvalzstencs
faction

(C) Putre
of the above
a speliing is

(A) Diferential

(B) Ditferensial
(C) Differencial
(D) Ditferential

29. Find out incorrect sentence.

(A) But one thing, however, has not
changed

(B) You should act like me

(C) If you do not work hard, you can
not succeed

(D) | will wait here untill you come
back




aig also calied

A fabl

(B) apologue . The
= [P Gis
(A} pars D) exempl . ® Gothie negym
{E: ﬂm"’!m { bttt LA tha n'“ﬂi-i'l.'-.!'ﬂ'l L'f:l‘l rlﬂrllil'r"-"ln:
L] ILﬂ\rEl'H- Latlﬂ-u- WO PO o "'.I'I'r.r_-;uj,: i
aras -} i\
31 Shmle eood exampie of BF 2 typa ot pros
Lost' =8 of Ideas Bkt :__-n AN Wit e
- AINE midcde oL T
(&) Ui Gmn.ﬂ-d'}f ol Manners BLUMicad ws 2 B
- ! I 1 L1l ]
{'EJ The ':':Ifl & #h =|'|I"|F_|-'|n|1| CATe
(C) Probiem ey L TN W ysiorias
(D) Romantic Comedy 05 Modem age il
| & type of fi
e =rmann tha following writers |s < HICBON With exatic satling

3 Wino @iete i i S
82 kniown for his epigrammalic prose 1: TJ shant composition in prase
‘ 4 al undartakes io discuge 5 me'.":nl. ]
(A} Thomas Browne :.'IHIL:IEEE % POINL ol iew persundes us
J Bacon D acocepl a thesig on any Siibject
€) Dr. Johnson simply entertain” is '
o Addison (A} Biography
As a dramatist John Galsworthy (B) Essay
33, [?-“ %Himmﬁnn (C) Autobiography
e ~
(8 peyehoiogical tracition/school b
 raalist tradition of Jones and 38, Find out the most sullable preposition
e : - wom the gwanuplions
o) tradition of Edw Malti is led
s e e v 1h
P "{f:jh! Hl'ai'l'l'mﬂtlf:ﬂl: status of S o

L : A) from (B) with
34 . in the followin
w i word, In LUE ar (D} about

AR ? was the first to

0e. the par ‘with the error. (Read
: (B) adjective the four options as the parts of one
ot ety (D) verb sentence thal is given)
(©) v § _ e i (A) These kind of appara!
35. Which of the f“ﬂm;ﬁ;gﬂ ;Etgma Bt (B) seems to be expensive
T ﬁ:;’mmﬂf treachery and (C) but it is relatively
(A hﬂw ¥ (D) aftordable to maintain
rama tially has e
(B) guﬂ;:;:ﬂp;i;ﬂ o 40, The correct spelling is
(C) A closet drama s intended to be (A) Dicsermnmant
" read rather than to be staged in a (B) Diccernement
theatrd iscermment
(D) tdeals with gentiemen and ladies (o) AR,
it iving in a polished society (D) Dicsernm
TG-08/A
4




_ i !"ELJ'IF:I'I
tr.:‘a; sal LS Progress
Flowsring w, Biness

‘La -
aﬁi.TE M Solt Lydian airs,

Ml G 10 immartal VErSE

Ik nm::ﬂ th_ﬂ Meeting soul may plerce
& 5, with many a winding bout "

G above lines appear in

A} IL Pensarosn

|B) Lycidas

(C) Song From Arcades

IB} L' Allegre

43 Lysandar is a character in

(A) A Midsummer Night's Dregm
(B) King Lear

(C) Comedy af Efrors

(D) Bomeo and Juliel

44 Which figure of speech do we see in

the following expression 7
“Ten thousand-saw [ at a glance’

(A) Oxymoron
(B) Hyperbolek
(C) Pun
(D) Transferred Epithel
45.  Which of the following is not True 7
The term ‘novel refers 1o
(A) prose fiction
(B) aprose narrative having characters
and a plot
(C) a treatise on current social
problem”
(D) a literary form that is derived from
Italian ‘novella’

in the laliawing
Directions (Q,A6 19 Efl aach ©f which hap
passage thare nra-ﬂih:l:a rrr;uﬂ'lhE”E are prinied
Ehch; fouT words
below the assage and 8galn= | answer
wi p‘mur:rl'ﬂ nhﬁ‘m"';r' Answet
are Supes Sord i gach CAse
Fird out the {!F‘F'mpﬂﬂm
(AB) unversity, i

suura o TR
i e J the S0l o
af knowledge which _— _____ﬁi o

fty s the sanciuary o

vars
a univarsity. The UFI untey, The haalin
{49) fife of & OV i Ir.:

i g7 - S il
} ite are 1o
r:-ntal of natinna!{:j:; sk < i
P awaRen They are {he spirt belhing
nﬁnﬂlﬂ?ﬁ BAnE T (81) of society. When
ma g.i:a- E-Elut}a_lia'l_ we start aiam'eri;iEc;l dobste
W BY |
and discussion of first ™
46. (A) an

(B) a

(C) the

rﬁ-"l ki€

47. (A) employees

(B) officers
upils
|ce Chancellor
48,

(A) make
(B) torms
(C) creales
(DY makes

49. (A) social
(B)Y human
(C) national
(D) intellectual

50. (A) They
(B) You
(C) We
(D) Who



(A) moments

(B} mo e

(C) achievements

(D) people

- {A) principale
(B} principles

(C) issues

(D) questions

‘51.

belongto

(A) a country side family

(B) atypical city family

(C) the family of imaginary Islanders
' l.‘ﬁj none of the above

fﬂ. r_m.;ﬂm the correct preposition from
“.:\Iﬂﬂ.ma' given below each of the
" W so as o complete them,
Wi didn't get home 2a.m.
i - P -.J{E'_i after
D) to

B2.

 —

e 1qy

o Elﬂ-lﬂlﬁnn hh'f

A 16 me ol The emphasis s noton
e author's. developing seif by
on the people and events that he

author has known
aam:ﬂr 18 another name for
utobicgraphy
(C) Memoire is another name far
‘Biography
(D) Memoir is always episodic ang
appears in ballad form only

Which of the following works s not
written by John Milton ?

(&) ‘Ode on the Moming of Christ's
Nativity'

(B} ‘On the Late Massacre in
Piemont’

(C) ‘The Inner Vision’

(D) 'On Arriving at the Age of
Twenty Three'

TG-08IA




(B) Encript
(D) Enckript

Eﬂ:kﬂfgf Par with the arror. (Read the

Iorns a i

sentence ) 5 the pars of the given

(A) Each cigarette which

(B) a person smokes does

(€} some harm and eventually you
may get

(D) a serious disease from its effect

Find out the most sultable preposition
from the given options.
These boxes are very heavy. They are

65,

—

ng whilch 8 mo

allow! :
o alegy 7

ih
E:;ﬂ:;gi# ol pﬂsfﬂfm
(A) Aﬁ[rﬂ-phﬂl
=) L_-,r:i:ls.fn
(C) Thyrsis

o Eln-g-_-,rw
2 churchyard
iha first collected edition

The first folio, : i .
gpeara’s piays dited by
mﬁshl?::‘llﬂﬂﬁ and Thomas Saciy|lia
EEE Nicholas Udall and Thomas
n
o s Udall and Condai|

Michols
Eg; Haminge and Gondell

the following plays of
Shakespeare does not belong (o the

T
(A) Fﬁuh Ado about Mothing

(B) The Tempes!

(C) Cymbeline
(D) The Winter's Tale

Falder < d.Sharacter in which of the
following plays by John Galswarthy 7

68.

Atten in & Couriry

TO.

71. Which of

72

full books.
(A) with (B) of
(C) in (D) from

67. "Will no one tell me what she sings 7
Perhaps the plaintive numbness flow."
The above mentioned lines appear in

(A} True Love
(B) The Unchangeable
(C) The Solitary Reaper
(D) Lucy Gray
58. What is the meaning of the word

‘mercenary’ 7
(A) The mative to earn money

(B) An office without pay
(C) A business of machinery
(D) All of these

G-08/A

(A) Silver Box {B) Justice
{.D.I Lﬂ'ﬁl‘&!ﬁﬂ-s

adda:
h figure of speech do we see i

the following expression 7
"Alone, alone, all, all alone,
Alone on a wide, wide sea’

(A) assonance (B) alliteration
(C) metonymy (D} pun

Which of the following works of
John Galsworthy puts forward John
Galsworthy's ideas on the drama 7
(A) Jocelyn

(B) The Island Pharisees

(C) The Inn of Tranquility

(D) England to Free Men

74.

10




75 Choose one word tres h
which describes the I:Ihr:: Sptiong
accurately 58 Moy

Incapable of being redesmac 4
i.e. beyond cormection

(A} Impregnable

(B Ineffaceabla

(C) Indelible

(D) Incorrigible

FOMm ey

Find out the most sultable preposition

- Te—

B85

81 ':'TJI'('H T

from the given options.
It was very generous
offer to help me.

(A) about

(C) of

Among following sentences which is

not correctly punctuated 7

(A) Ram, the son of Dashrath, killed
Ravan.

(B) *Man” he said "is a political
animal.

you o

(B) from
(D) for

~ (C) | told him that | would help him.
1 {D) Heis awhwsi_p-amun: even hi
enemies say SO. I\
78. The d-;ammarsw-ﬂeatﬁue and Benedick
- appear in Shakespeare's play

(A) Love's Labour's Lost
- (B) The Comedy of Errors
(C) Much Ado about Nothing
(D) As You Like It

| Astory in verse or prose with a double
meaning is popularly known as

(A) Satire (B) lrony

(C) Allegory (D) Fable

ke
e o -ih:_. ’!bl;‘.'\,lp

LAY dustice N

(B} Machatn

:.r—:l] ﬂ.l‘ﬂﬂﬂa E
Ii}l'lll.'_'ﬂ

(D) As You Like i

82. Which of the |

]
e OWINgG ks nat a arm of

(A} Pindaric
{C) Jacobean

83. Which ot the fall
written the lines

“Forfear of which n
B s nere. hig

Ere you wers porn,
AUNITIEE donc

(A .j[.!‘q”if'i:u;'-“fﬁ?lh"_f
(B John Mifton

{ William Shakespeara
d alarn Wardsworth
; he'8rror

art in the folloy
EHTiIERAE: P & following

(Consider four options comgprising the
complete sentence)

(A} Filteen miles
(C) long way

{B) Horatian
() Vrrequiar

UWI“-'IIE_ El'l.ﬁhl.'JTE has

thauy age

Was beauty's

(B are
(D) fowalk

85,  Which of the following is mismatched 7
(A) William Shakespeare: ‘True Love’
(B} Wiliam Shakespeare: “Came
Diem’
(C) William Wordsworth | “Revoluticn
(D) William Wordsworth © "WNritten in
Early
Spring’

TG-08/A




87
£i Tha characte

Appagr |~ % Ophe

ah
(A) King Lﬂ;“‘“'il'le
(B} Hamigte
(&) Othallg
\B) Macbeth

Ha and Gastrude
are'e play

BE. Fin

(A o out antanym of the waord ‘ample’
| &nough (B) sufficient

(C) meagre (D) scarcity

89. Find out appropriate transfarmed

exclamatory sentence of the following

assertive sentence.

We had a very merry tima of it |ast

night.

(A} What merry fime they had this a
night !

(B) What a meiry lime wa have this
night |

(C} What a merry time we had of it

last night'!
(D} What a merry time thay have of

it last night !

In the first folio edition of Shakespeare's
dramas which play was omitted 7

(A) Macbeth

(B) Pericles

(C) A Midsummer Night's Dream

(D) Titus Andronicus

S

TG-08/A
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Directions (2. a1
Balody, (eir oplions
Find put the ward W

81,

a2

o3,

g3.

96.

I =AE o :
:-.lrj"l-':ll"':':-._I :

- cormaCilly . 5ol

— @)
(A (B
pilgh

{A) ipwaribrate
=3 PIREN § L1= L L
(S Irl-u'nrtlbrEt!

(B3} Inuar1ib+:|nrnl:&

(A
(B
(C)
(=}

iA)
(B
(&)
()

(A
(B}
(G)
‘.' u||

ﬂrI"II‘TI-'E'I e
amaletls
nmEI"E"E
gmoletl

ciusing
EuisH
cusin
gulsing
diarrhioad
diarhoaa
dirrhed
diathols

Out of the given altermalives, 1| in the
255 in the following sentence,

Wi a connected narrative
oi thie aul ks iife with some streas an
introspaction

(A) Biography

{B) Autobiography

(C) Travelogue

(D) Memoir

identify the errar parl in the following
sanience.

(Caonsider the four options comprising
the compiate sentence)

(A) The number of people

(B} applying were so large

{€) that the college had 1o

(D) stop issuing application forms

100

1!




3 Ch-_:mse one word g lh
which describasg the phra Optiong

accurateiy, 950 mogy

To banish trom one's Country
(A) Hepatriate

(B) im
(C) Emigrate el

|:D.'F Elpﬂtﬁgta

\girections (Q. 98 and 99) : Idantity the rorme
am of verb/phrase out of given cholces gq
5 _t’ﬂﬂm-p!ﬂtﬂ following sentences

| (be) there, situation (be) differant.

(A) | (had been) there, situation (was)
difarent

(B) | (was) there, situation (was)
different

(C) (Had) | {been) there, situation
(would have been) different

[D} (Had) | (been) there, situation (had
been) different

The boss wanted to know
done the job.

'_,';@;] how | had

(B) that haw had |

|
1
I
|

LAY pross trg
fed)
(B) epic .
\C) verse tragad
Y
(D) ode

104, Whish ol the followin

writlen the lines —
Tuwhit | tuwhaoo | A Merry note |
Whille greasy Joan dath kel The pot™ 7

(A) John Galsworthy

(B8) John Mittan

(C) William Wordsworth

BN Vil Shakespeare

105. Which of the Wollowing paems is Ao

8 Bulhiors has

(C) how would | have
(D) how had |

Nhich is correctly spelt word ?
(A) Comprehansible

(B) Contemptible

(c) carporeal

(D) None of these

A seven-line, lambic pentameter
stanza rhyming ababbec is called

ten by John Galgwarthy 7
E ‘ von 1o Mg"
Ussla — America”

(C) “Past’
(D) “Admonition to a Traveller"

106. Choose one word from the options

which describes the phrase most
accurately

The art of making firewarks
(A) Pyrotechnics

(B) Numismatics

(C) Fireomatics

(D) Cicatrics

TG-08/A
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P 0 TT— T — ——_
-
% it i o PR slatements hava b i % -
107 Mark the part with the error, (Read 1h: hare for tragedy. Find m.?r::;lu::,.n. L
fout aptions as the paris ol e give statemonts. : \
senience ) 1. It Is reprasentalion of sargyy
(A) One must grab advantage of F“*""‘f”ﬁ !”ﬂhd'“g 2 loyous conclusior
a5 i with native ofr tragic naro,
(B) opportunities to talk W 2. Thatragic hero will svoke bagk o
Speakers pity and terror
(C), If you wan! to imprave 3. Tha hamartia becomss the regeqn
(D) one's English ol hia damise. 118
e’ b 4, The anagnarisis in traged '
108. Thumaanlngnlmwﬂ efignation g reversal In his fﬂl‘tl.mﬂ%?n;
{A) dignity happiness o disastar.
: B} 1 and 4
(B) disgust (Rginand = (B
(C) diversion A AN S Ly iy
(D) anger with surpnse. 114, Which of the foliowing plays is not
i written by John Galsworthy 7
109. The correct spelling I$:_..-_ i (A} Justice .
(A) Flutfy (8) Fluppy (B) Siiver Box "
(C) Flutpy m!'ﬂufﬂﬂ (C) The Apple Cart
0 e (D) Strife
110. AT : : :
En; ::1 Ih.a.m 145, In William Wordsworli's "The E::ahifiry
e given optont: Ream T3 ke Highiand Loss 1
| broke this glass._— BEEIC | (A) & girl from ireiand
(A) at  (B) by (B)_a girl from Scotiand- 4
_ R il fram Arabian Sands
Sl a el a of the above
111, The line, “Thy soul was Ike&star,and O o
dwelt apart” appearsin  Directions (Q. 115 - b ST
apart” appears in sentences have been transformed as per

(&) Londen, 1802
(B) The Dynasts
(C) The Unchangeable
(D) A Consoiation MR
112 What is the correct meaning of the
word ‘apposite’ ? %
(A} contrary
(8) different
(C) right
(D) suitable

TG-08/A
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directions given in their brackets. Choose the
correct sentence from the choices given

116, The apple was oo sour to eatl. (Remove
llmt]
{A) The apple was very sour

- (B) The apple was extremely sour 10

eal

(C) The apple was so sour that it

~gannol be saten

(D} ;The apple was so sour that it could

not be eaten



a8 appolnt

{C) He was
the Prag
(D) N

appointed Goy
dent

one of tha above

Emor by \

Who would poy
(Assertive)

(A) Everyone would love his count

love his Country =

-
I

(B) Everyone should love hig
Countny.,

(C) Hardly anyone would love his
country

(D) Some people may not love his
country

Why should they be blamed by you ?

author's iije

(o Simulatad ALt
devics often used

123, Miltan's '‘On

DOraphy |5 5
1 e rvoee)

Ehﬂhﬁilﬁﬂam' wWay

(Active) Published in
(A) Why should you blame them 7 \A) 1830 (B) 1887
(B) Let you nat blame them. IC) 1625 (B) 1832
(C) Why you should net blame therm @ A ol
(D) None of the above ' ;En[::: W& &mor part in the ollowing
=
In which poem of Wordsworth does :
“" the line, 'Our birth is but a sleep SIS 190r Bptions comprsing
X ?*jgrgett'rng‘ r 7 ompiete santenge)
3 ik P .ﬁbb‘ﬂ'}' (A Neither my brother
' % The Recluse {B) nar my brother-in-aw
{G]The Prelude (C) were able to help me
(D) Immortality Ode (D) in the work
s kespeare's . .
Inthe ;Iassh‘ir_-ﬂﬂﬂﬂ of Sha 125, Find out the most sultable prepositian
 plays, in which Dﬂtﬂmﬂmw from tha given options,
%hﬂ The new medicine prevents the virus
:::H} The Mature Guquias (A) 1o e (B) from
AR . &
Aty of ;g
TG-0BIA
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